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(SocioLoGY)

1. Weber’s Versthen is a method which aims at
(A) explaining actions of individuals.
(B) identification of causes of action.

1. STARIES (SBE (Versthen) A&ls (& Sl
SJ7e A 2

(A) e e Resrd w3 |

(B) oo simeafe fofeeead |

(C) JeT STHPTIRR WIS @R/ |
(D) TG M T FIRPTZ 0T Cofa] |

(C) interpretative understanding of actor’s
motives.

(D) developing causal understanding of
relationship through actions.

2. Match the List-I with List-II as given below: 2. [F75-1-] A o117 e (rdlle ¢

List-I (Authors) List-1I (Books)
51 (713%%) fer5-1 (7f%)
(a) R. Usher & (1) The Future of N R
R. Edwards Religion (a) 7. TR @ (i) MRreoiRr e
. GUeRIGH

(b) K. Macdonald (i1)) Postmodernism and

Education (b) . WRHGIT (i) APTEIfTen @
(c) D.Byrne (iii) The Sociology of ARl
Profession (©) . armcm (i) & Griesi o
(d) W.S.Stark & (iv) Social Exclusion AT
W.A Bainbridge P
(d) TFIAIBIF € (iv) G G
Codes: TZ.4.([EA e
@ (b)) (© (@ SRR
(A) @Gi) (1) Gv) (D) @ (b)) () (@

B) @) @G Gv) @)
© Gv) Gy @O (i)
O @ Gv) G (i)

A (@) @G 3Gv) (D)
B) G @) Gv) @)
© Gv) G @) (i)
O @ Gv) () (i)

3. According to A. Schutz, knowledge has to be 3. «. ?.[B%j—uﬂa 0O T Srel] ZaT

(A) FARCEve
(B) THR-IREFHG
(C) foreafer anesims

(D) @ =1 s rieeaifen® e [fere
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(A) subjective

(B) inter-subjective

(C) purely rational

(D) a mix of rationality and belief




17-11
4. ‘Orientalism’, according to Edward Said refers to

(A) looking at the Orient from the western
ethnocentric point of view.

(B) celebration of the Orient.
(C) highlighting the glorious past of the Orient.
(D) development of the Orient.

5. The Conversational Analysis is part of
(A) Phenomenology
(B) Symbolic Interactionism
(C) Ethnomethodology
(D) Critical theory

6. Who among the following asserted that power
works through discourse to shape popular attitudes?
(A) J. Derrida
(B) J. Kristevo
(C) M. Foucault
(D) U. Beck

7. What does POET stand for in environmental
sociology?
(A) Peoples’ Organization on Economic
Technique
(B) Population
Technology

Organ of Economic

(C) Population Organization Environment
Technology

(D) Peoples’ Organic Environment Technique

8. Which of the following does not constitute an
element of class?

(A) Production relation
(B) Ownership of property
(C) Gender relation

(D) Exploitative relation

4. GITITE AW A AT Z&1
(A) “ABICSTH FI—(.@I(’EKD\'JM (ethnocentrism)
(2ifFCS ATy i |
(B) 255 Twi# (celebration) |

(C) &ItEIa Sreiced (aMF<aN2ll (glorious) O
SEIN

(D) RAEF Tafoay |

5. FRAAFLTLES fqeaael =51

(A) (Aol
(Phenomenology)

(B) &SI wgsfewiam
(Symbolic Interactionism)

(C) Tifcogyes “afe e
(Ethnomethodology)

(D) >TSCETIDARET Og
(Critical theory)

6. fsferiie @@ Ticrelfes-a wiq Sl el
9 7! A o4 (discourse ) e Wi waifem

LSRR
(A) (@. (el
(B) (&. & rbret
(C) @. T
(D) TT. (7

7. ifdca Trerecg ‘POET’ J&10o S (IR0 2
(A) PP SRARIRIEH I S SR (Gl
(B) 2I%{TETII SIH5I S (RIS (GRS
(C) 9T SRR QTS ITFCT5
(GRS

(D) 7R SRS QTSRS (G

8. fgfeie @t @i Sofmie 2o 2z 7@ e
(A) TV FoolF

(B) Fitia Wiferia
(C) Tort 7IF
(D) (IRe9TS F=AF



9. Who is the author of the following statement?
“When we consume objects we are consuming
signs and in the process are defining ourselves.”

(A) J. Habermas
(B) J. Baudrillard
(C) M. Castells
(D) P. Bourdieu

10. Kinship morality
(A) doesnotconstitute are-statement of natural
kinship.
(B) transcends natural kinship.
(C) isnotevidentinthe contextofthe Kindred.

(D) cannot be seen when a simple breach of
etiquette occurred.

11. According to Srinivas a dominant caste is

(A) necessarily a high caste having control
over rights to land.

(B) an ex-untouchable but wealthy caste.

(C) a neumerically preponderant caste
enjoying power in the village.

(D) acaste not of a very low-rank in the caste
hierarchy and enjoying a modicum of land
resources and numerical strength.

12. Who coined the term of vote bank?
(A) A.R.Desai
(B) R. Kothari
(C) M.N. Srinivas
(D) B.R. Ambedkar

13. Among the Indian sociologists the importance
of studying social ecology was highlighted first by
(A) D.P. Mukerji
(B) R. K. Mukerjee
(C) 1. Karve
(D) G.S. Ghurye
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9. fagferiee aew a2

“@IET T2 FAGEN SAEFHA T2 oA
TGO AR (signs) TG B 1 20T ol fowizfac
SSTAETTSH |

(A) (@, IR

(B) (. wfzeTd

(C) . WM

(D) 1. 752

10. et TifeTo-3 wief ==
(A) Tl @IS 7=/(F w2 TG (o1 FE 1 |
(B) =eif<seaifs 79/ (=g (transcend ) !
A |
(C) =IfS (oIP1 (kindred) N4y B! SofaTa 2 =1 |
(D) AlaiRe FBIGICE S wifeas gre @ T« |

11. AfFaP-93 o wifdsrey R wife 2
(A) eTo T wiife Gfsi Sofd foraael Te Aice |
(B) @3 afie=-smge 5 [exi wifs |

(C) a6 ARANSICSIF 24w Tifs A A ol
Col9 I |

(D) wifests iffame srRd 33 fwdiz a7
(25 43 2/ (modicum ) G iR
(S5 I @ FRAIET ol 3 27 |

12. ‘o6 =’ =0 F7 7B 2
(A) 937, 713
(B) 4. (o1
(C) aw.9g+. Afa™
(D) R.=4. SN

13. SRR ISR N (F AL ANNGT IGoF
(social ecology) SRR & G2 A ?

(A) f.fot. gt
(B) W3 (. YA
(C) Wz, Fe
(D) f&.@a. 9=
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14. Who among the following sociologists first
conceived of Religion of Humanity?
(A) E. Durkheim
(B) A.Comte
(C) G.S. Ghurye
(D) M. Weber

15. Who amongst the following sought to guard
structural-functionalism against its alleged failure to
explain social change?

(A) T. Parsons

(B) B. Malinowski
(C) C. Levi-Strauss
(D) R. K. Merton

16. Match the List-I with List-1I and select the
correct answer from the codes given below:
List-1 (Books)

(a) The Andaman
Islanders

(b) The Social System

List-1I (Authors)
(i) C. Levi-Strauss

(i1) R.K. Merton

(iii) A.R. Radcliffe-
Brown

(c¢) Totemism

(d) Social Theory and
Social Structure

Codes:

(iv) T. Parsons

(@ (b (© (@
A) Gv) (i) G @
B) @Gi) @Gv) @ @)
© ® Gy () @Gv)
D) G @ @Gv) (i)

17. Which one of the following cannot be considered
a force of production?

(A) Tractor
(B) Labour power
(C) Steam engine
(D) Missile

X-6

14. xfefRe Teeifesmsa S & 225 g¥ig e
Raafo wierg FrfRE ¢

(A) B TR
(B) 9. gl

(C) fa.@. 9@
(D) 9. SERF

15. fsfefie Teeifgsma T & IS
TR Wgw ANEs YAfieea [Reae sefse

GS TN Tl AR 2
(A) . o™
(B) . wifewfx
(C) ™. @fe-2
(D) 4. (. o

16. f&r35-1 @ fa5-11-3 St & @ie @3g
A0y 2me FFONRT W (AF I T Y&
([RF T ¢

51 () er5-11 (FT40%)
(a) Tn e wizement (i) B @fe-
(b) 7 G Fress (i) . . o
(c) (BIGHP (i) «. 7. AT AT
(d) e fReers (iv) ©. oo™
CIIIET Zeoia
(1T g

(@ (b (© (@
A) @Gv) (i) G @
B) @) @Gv) (@@ (i)
© @© Gy @G o 3Gv)
D) G) @ (Gv) (i)

17. FsiRe @m aaf Sestimes sifemxiie e
Rafoe za e
(A) G690
(B) I sftewa
(C) 5% 3fem
(D) fmiiza



18. Mark the correct option:
Rationalization, according to Talcott Parsons
means

(A) the process by which a person or a group
calculates the profit over their/its
expenditure of resources.

(B) theprocess whereby individualsinternalize
the values, beliefs and customs of their
society.

(C) the process of rational, individualistic and
innovative attitude towards work.

(D) the process in which new values beliefs
and attitudes, etc., get institutionalized.

19. “Governmentality”, according to Foucault, is
(A) domination of one class by other.
(B) dictatorship of the proletariat.
(C) art of governance.
(D) dictatorship of the state.

20. Which one of the following concepts is used in
managing labour relations in a modern factory under
globalism?

(A) Taylorism

(B) Fordism

(C) Industrial democracy
(D) MacDonaldism

21. Which one of the following is not approved by
the traditional Hindu marriage system?

(A) Village exogamy
(B) Caste exogamy
(C) Clan exogamy
(D) Lineage exogamy

22. Whichone of the following processes is regarded
as equivalent to socialization?
(A) Acculturation
(B) Accommodation
(C) Enculturation
(D) Mobilization
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18. 7= fal® g a:

BIRTRG 2R SI0o Jfeimel get

(A) @3 *%S @A @I AE A (oM Tm
FREFI® R BEED A sTeiked B
3@ |

(B) 92 “@fere OFeH A& TG JENE,
et ¢ Sife-Sife-3 srewae @ AT |

(C) @t =1 Jite s ey, Tfewes ¢
TERA %l |

(D) @2 siwfore Toa 0, i ¢ gigeht
@35 2SI st A |

19. FC-T MO ‘SrSHGEIHIFT 26
(A) @3 i Torg woig iferd i |
(B) @ifeibiEre-a«izreliz@el (dictatorship) |
(C) T ATIBENE & (Artof governance) |
(D) NI G RTOIEFol |

20. FEferie @ gt e @fFte o
Syl ST @ TF fafye/ #ifasifers 222
(A) (bEsifeem]
(B) v
(C) TR oy
(D) SIRCelaIFeSs

21. fsffie e REaf Aeres Rl Rz aEm
SRJGIT B A2
(A) an-afRefarg
(B) wifesre-afzsiarz
(C) colfgere-afzsiarz
(D) AHsre-aAfzsarz

22. fasfefie smfoufer g @WT AmESee
AGoF ANCIAT SN 2T 2
(A) STFEABIEHI
(B) ST
(C) QTHIETHICI
(D) wfFeTiErem™ia
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23. Thesociologist who has talked of ‘abridging the
role relationships’ as a mechanism of articulation of
roles in the role-set is

(A) T. Parsons
(B) S.F.Nadel
(C) C. Levi-Strauss

(D) R.K. Merton

24. A school teacher has to maintain her relations
with her students, her colleagues, the Head Mistress of
the school, the guardians of the students. The sum of
these relations is termed in sociology as [her]

(A) Multiple roles
(B) Role-set

(C) Role-summation
(D) Role-conflict

25. The sociologist/anthropologist who has offered
a structural theory of role-conflict is
(A) A.R. Radcliffe-Brown
(B) G.P. Murdock
(C) T. Parsons
(D) R. K. Merton

26. A setof beliefs and values that radically rejects
the society’s dominant culture and offers an alternative
to it is termed as

(A) Subculture

(B) Counter culture
(C) Idioculture

(D) Cultural complex

27. If people in a social setting assume that their
own culture, community and behaviour are superior to
those of others then it is depicted in sociology as

(A) Nationalism
(B) Xenocentrism
(C) Ethnocentrism
(D) Self-centrism

23. fawfefie e TTefes S TF
GFAFACET-F (abridging) CFGG (I (5-7 AMRAFICAT
e RO @t

(A) 5. st

(B) @¥. . TG
(C) F. fe—=gn
(D) 3. (. Niow

24. GG QpieTs iR SI9 =lamd Jox, RSN
0, 2yl iR A0t 9% oS IIama A TAF 551
FE | @B TR GFAFACT T AY LFAE
L]

(A) 2Ry ghi

(B) =l 16

(C) Tl ¥Faae (role-summation)
(D) il a7

25, fasffiie @W TTeier/Toifee i area
VAT GFT IS &G 2l FCAC2 2
(A) 9. 9. AICFF-are
(B) f&. 1. srze
(C) 5. sl
(D) 4. (. o

26. iCeE A REEE Agte qoem [mim
T @ SRR AT Afie F@ 93z @3
foem =Nl &AMl 0, ©f 25

(A) APIETHIT

(B) FCTIA-FEBIE
(C) RfCe-IIeTHR
(D) <FIeToINeT AT

27. J4 (] SRS TG I A, T2
G S5 SNHH (AF SHAET A NG F(F O
IATEroCg CF el =

(A) TIeToRM

(B) &S ©€ (Xenocentrism)
(C) Fererw ©% (Ethnocentrism)
(D) W@ (Self-centrism)



28. Which one of the following is not a feature of
community in classical sense?
(A) Historical heritage
(B) Specific location
(C) A social religious, occupational and other
group showing common characteristics

(D) Small patches of localities spread over
many areas

29. The variations in sample means around the
population is known as:
(A) Standard error of its mean
(B) Sampling bias
(C) Sampling error
(D) Bias in population

30. What are the major issues that have revolved
around the agrarian social structure of India?
(i) Social arrangements.
(i) Technological arrangements.
(iii)) Economic arrangements.
(iv) Political arrangements.

Find the correct one:
(A) (i) and (ii) are true
(B) (i) and (iii) are true
(C) (i), (i1) and (iii) are false
(D) (1), (i1), (iii) and (iv) are false

31. Who among the following sociologists
advocated studylof the breakdown of joint households
rather than the study of the breakdown of joint families
in India?

(A) A.M. Shah
(B) P. Uberoi
(C) V.Das

(D) S. Patel

32. “Discourse”, according Foucault, is
(A) a Philosophy only.
(B) a Text only.
(C) aPolitical agendum.

(D) a text in language which contains a
Philosophy and a guide to action.
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28. =T oo WFRe @b TEmEd ey 917

(A) afsgFi ffmsfa

(B) 7% 7=
(C) a6 AMEs o7, oi¥iise @ ey
GNP 98 40T (RIS

(D) ffen 2l 2o Al 5w aaesidl

29. I R B @ @I RioTel (el TR o2
A7jeri T @ ST AR AT OIF &1 2 ¢
(A) OIS «@7q o1F il
(B) SIC=iferz T
(C) ™Ak @z
(D) I 2 ST

30. seIrs FRicfes AMfes Fowm fEffs
(I [REmafer ety HA e

(i) A& 522! (Social arrangements)

(ii) @f&st® 57l (Technological arrangements)
(ii1) SRS <8l (Economic arrangements)
@iv) AGeF T (Political arrangements)

5% el Hize w ¢
(A) (i) 9% (ii) - AfGF
(B) (i) €2k (iii) - A=
(©) (i), (i) 9% (iii) - AT 7
(D) (i), (ii), (iii) 9% (iv) - 7S T

31. fEfERe @ Teeiies oedrEa (@ vf[iEs
TheTT #IfFACS (e ABAME (household) ©reea ez
g Meaces) 2

(A) €. 9. 12

(B) fol. S@=w
(C) fe. %™
(D) @1. #Iie6eT

32. T3 e e’ 7|
(A) @ wfq g |
(B) @« GG |
(C) @b Aeafos 27|

(D) «<f6 Sratere faay = v+fw ¢ i s
PN
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33. Whoamongthe following sociologists has talked
about three types of consciousness, namely, discursive

consciousness, practical consciousness and the
unconscious?

(A) J. Habermas
(B) M. Foucault
(C) P. Bourdieu
(D) A. Giddens

34. Who among the following has said that social
science knowledge is essentially ideological?
(A) H. Garfinkel
(B) A. Schutz
(C) G.H.Mead
(D) K.Mannhium

35. For C. Levi-Strauss “social structure” is

(A) the network of actually existing social
relations.

(B) a set of hidden rules that make social
relations as they are.

(C) a hierarchical organization.

(D) an arrangement of social and political
institutions.

36. Who used the acronym ‘BIMARU’ states in
India?
(A) Ashish Nandi
(B) Ashish Bose
(C) Ashish Kothari
(D) Amitabha Kundu

37. Which sample is more prominent than samples
based on probability sampling in the field of organization
studies?

(A) Convenience

(B) Purposive

(©) Quota

(D) Snowball sampling
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33. fasfflie @ eelfes fo @@ AoTel
A—SPIE? GO, ARAMDE AGOTO! € TP HOTO-T
AN ACETCRe 2

(A) (& I
(B) 9. T
(C) fot. 7@z
(D) «. Tl

34. e eeifesom S & e @
MGG Sl JeTo 26 NfeTog ?
(A) 935, SRR
(B) 4. 36
(C) f&. «p. fo
(D) . RIS

35. 1. EITo-Zr™ Fitg AN FoE 2=
(A) e Aifes T4 @oeaF |

(B) faifars ¢t fzrsiiaatt @1 s iferss icda
FE elfBE 9iE 4 |

(C) O FeIms 2510 |
(D) AMIEs @ AEfes afeviaies s |

36. ©IKed@ ‘BIMARU’ *(7d &fox@ & 924
A ?
(A) =i«
(B) =f*% @1
(C) = Rt
(D) wfsie Py

37. MRAGFRW BEIF (0T (I TN ABRTSS

TSRS (AT S @A TN 2
(A) Ffarerer
(B) SUmIrET®
(C) il
(D) CII<eT yerzel



38. Theauthor of “Putting People First: Sociological
Variables in Development” is

(A) S.C.Dube

(B) Amartya Sen

(C) M. Cernea

(D) Ram Krishna Mukherji

39. Thebookon “Politics of Scarcity” by M. Weiner
is based on the research experience in which state?
(A) Odisha
(B) West Bengal
(C) Assam

(D) Bihar

40. Choose the correct option:
Civil society includes —
(a) Family
(b) Private Sphere
(c) Government
(d) Business
(A) (a)and (d)
(B) (a) and (b)
(C) (b) and (c)
(D) (c) and (d)

41. Whoamong the following has said the education
is a field which reproduces social inequality?
(A) Edward Said
(B) P. Bourdieu
(C) M. Foucautt
(D) J. Habermas

42. A collective mobilisation is not called a social
movement when it develops

(A) organisational structure and ideology.
(B) established leadership.

(C) division of labour.

(D) formation of a political party.
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38. “vif5z oIsiep] w5 ¢ erifTesfeRTE SrifawRer
Bl (SLeEHAS” 267 TRl (F2
(A) 9. Pl g
(B) IT$) (T
(C) @ Sl

(D) IFRe A&l

39. @ e7izaF i “siferie s et 26
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43. Which one of the following is not a correct
match?
(A) Gender and Land Rights — Bina Agarwal
(B) Gender Inequality and Law —Flavia Agnes
(C) Women and Kinship — Leela Dube
(D) Women and Education—Uma Chakravorti

44. ‘The tribal communities were originally
separated from one another, subject to unequal pressure
of the Hindu social and economic system. This had
been given rise to’:

Which one of the following is the appropriate
for the above statement?
(A) The kind of social structure evident in the
present
(B) Early stages of democratic decentralization
(C) Demand for equality of treatment
(D) Royal lineage

45. Who articulated positive tendencies in Hindu
thought by proposing a ‘Hindu Sociology’?

(A) Binay Kumar Sarkar and Brajendra Nath
Seal

(B) Radha Kamal Mukherjee and D. P.
Mukherjee

(C) Ramkrishna Mukherjee and Partha Nath
Mukherjee

(D) Surajit Chandra Sinha and N. K. Bose
46. M.N. Srinivas’ study on religion among Coorgs
was influenced by
(A) S.F.Nadel
(B) Raymond Firth
(C) A.R.Radcliffe-Brown
(D) B. Malinowski

47. Which one of the following ethical principles of
social science researchers should not be followed?
(A) Informed Consent
(B) Confidentiality
(C) Avoidance of harm

(D) Clinging to own stand point

48. Who is the author of “A Non-Communist
Manifesto”?

(A) Marx and Engels
(B) Lenin

(C) Rostow

(D) Amartya Sen
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49. The indepth investigation of a phenomenon
on a process or an event that focuses on its historicity
and contemporary linkages with wider society is
termed as

(A) Content Analysis

(B) Participant Observation
(C) Case Study

(D) Survey Research

50. Whose view is this - “It is during periods of
revolution that the truly great changes in science take
place”?

(A) G. Ritzer
(B) K. Popper
(C) K. Marx
(D) T.Kuhn

51. Who was the first Indian sociologist to have
contributed to the study of social movement from
Marxist perspective?

(A) A.R.Desai

(B) D. N. Dhanagare
(C) P. N. Mukherji
(D) M. S. Gore

52. Who, among the following authors, has written
the book The Second Sex?
(A) Judith Butler
(B) Simone de Beauvoir
(C) Aun Oakley
(D) Martha Nussbaum

53. The Christians in India are governed by
(A) Hindu Marriage Act
(B) Christian Marriage Act
(C) Muslim Marriage Act
(D) Sikh Marriage Act

54. According to Robert Redfield peasant society is
(A) an undifferentiated society.
(B) a part society.
(C) asociety where all are cultivators.
(D) ahomogeneous society.
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55. The same-sex marriage is decriminalised in
India
(A) by an Act of the Parliament.
(B) by a circular by the President of India.

(C) by the Supreme Court by declaring
Section 377 of the Indian Penal Code
unconstitutional.

(D) by a declaration by the Prime Minister.

56. Step families emerge when
(A) families of two divorcee merge.

(B) the families of a brother and sister form
one family.

(C) the families of two brothers form one
family.

(D) the aging parents live with their married
daughter.

57. According to Freud’s psychoanalysis

(A) individuals are given sexual freedom by
the society.

(B) society promotes sexual promiscuity.

(C) society suppresses the sexual freedom of
the women.

(D) society suppresses the libido of the
individuals through social institutions and
values.

58. Anunderstanding of fine arts could be, according
to Bourdieu, classified as

(A) Finance capital
(B) Economic capital
(C) Cultural capital
(D) Social capital

59. The most frequently item of the series around
which other items are densely populated is known as
(A) Mode
(B) Geometric mean
(C) Arithmetic mean
(D) Harmonic mean
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60. Who among the following sociologists has
written about slums in India?

(A) A. Beteille
(B) A.M. Shah
(C) Yogendra Singh
(D) A.R. Desai

61. The Muslim Women (Protection of Rights on
Marriage) Act which bans instant tripple talaq was
passed in

(A) 2016
(B) 2017
(C) 2018
(D) 2019

62. The Open Distance Education as offered by
Indian Universities is an example of
(A) Formal continuing education
(B) Informal continuing education
(C) Informal Adult education
(D) Informal Supplimentary education

63. Which one of the following is an example of
civil religion?
(A) Makar Sankranti celebration
(B) Durga Puja celebration
(C) Independence Day celebration
(D) Holi celebration

64. The social term ‘Scheduled Caste’ was first
coined by
(A) The Government of India Act, 1919
(B) The Government of India Act, 1935
(C) The Constituent Assembly of India, 1946

(D) The First Amendment to Indian
Constitution, 1951
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65. The unorganised sector of India accounts for
around
(A) 40%
(B) 60%
(C) 80%
(D) 92%

66. According to Max Weber Hinduism was unable
to produce ‘rational capital’ because of its emphasis on
(A) inner worldly asceticism.
(B) other worldly asceticism.
(C) relational position to other religion/faith.
(D) household industry.

67. The 73rd Amendment to Indian Constitution
has provided the provision for one third reservation of
women in the.

(A) State Legislature
(B) Upper house of the Parliament
(C) Panchayati Raj Institutions

(D) Non Governmental/ Civil Society
Organisation

68. Ethnicity is formed on —

(A) Achieved social status and common faith
of social belonging

(B) Beliefofcommon origin and shared values
norms, customs, faith those are distinct
from others

(C) Common choice in Social, Economic and
Political Orientation

(D) Common genetic feature

69. Who among the following conceptualised
‘nation as an imagined community’?

(A) B. Anderson
(B) T. Parsons

(C) Amartya Sen
(D) M. K. Gandhi
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70. Which one of the following are the essential
components of ‘class foritself” according to Karl Marx?

(A) Common economic position vis-a-vis the
others, class contradiction and class
mobility

(B) Common economic position vis-a-vis the
others, class solidarity and class mobility

(C) Articulation of common interests for class
mobility

(D) Common economic interest, class
contradiction, class solidarity and class
consciousness

71. Who among the following tried to explain the
inter group relation through marriage in terms of
Alliance theory?

(A) C. Levi-Strauss

(B) B. Malinowski

(C) R. K. Merton

(D) A.R. Radcliffe-Brown

72. Accordingto A. Giddens the Key institutions of
modernity are

(A) Market, Knowledge,
Globalisation

ICTs and

(B) Capitalism, Industrialism, Surveillance and
Military Power

(C) Spiritualism, Surveilance, ICTs and
Military Power

(D) Market, Intellectualism, Democracy and
Citizenship

73. A small scale study conducted before the main
research in order to check the feasibility or to improve
the research design is known as

(A) Preliminary study
(B) Exploratory study
(C) Explanatory study
(D) Pilot study
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74. Identify the fundamental elements of positivist
methodology :
(A) Prejudgements
(B) Social assumption and social prediction
(C) Impression management, social prediction
and policy formulation

(D) Social facts, statistical data, correlation
and causation

75. Ethical behaviour of researcher is determined
by following sources:
Which one of the combination is considered as
important source?

(A) Researchers and the social context of
research

(B) Participants and the institutional context
of research

(C) Researchers and the institutional demand
for research

(D) Participants and social context of the
institute

76. Who among the following post-modernist
scholars has focused on the issues of crime, sexuality
and madness in the analysis of modern institutions?

(A) M. Foucault
(B) J. Derrida

(C) W.T. Anderson
(D) J. Kristevo

77. ‘The Moral Economy of the Peasant : Rebellion
and Subsistence in South East Asia’ is written by which
one of the following authors?

(A) A. Beteille
(B) E. Wolf

(C) T. Shanin
(D) J. C. Scott

78. ‘Cultural Lag’ theory implies changes in material
culture:

(A) At a slower rate than the non-material
culture

(B) Atafasterrate than the non-material culture

(C) At a proportional rate to that of the non-
material culture

(D) Atafasterrate than the non-material culture
in the plural society while at a slower rate
in the homogenous society
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79. Who among the following sociologists used the
notion of ‘half flow and half being’ in explaining the
phenomenon of increased social and spatial mobility
among the powerful population in the information
society?

(A) D.Bell

(B) M. Foucault
(C) M. Castells
(D) A. Giddens

80. M. Foucault drew the idea of “panopticon”
from the philosopher named

(A) Descartes
(B) Rousseau
(C) Bentham
(D) Kant

81. Which one of the following statements is
applicable for the term illness?

(A) Abnormal and physical changes in the
body

(B) Experience of an unpleasant impact upon
the life activities

(C) Normal and physical changes appear in
the parts of body

(D) Suddenexperience of pleasantimpactupon
the life and activities

82. The term cultural relativism means:
(i) Any culture can be evaluated in absolute
terms.
(ii) It refers to not judging a culture to a
person's own standards.

(iii) Itreferstoa person’s understanding about
cultural practices of other groups in its
own cultural context.

(iv) Different cultures are related to each other
in terms of some universal elements.

Give answer from the options:
(A) (i) is true, (iii) is false.
(B) Both (ii) and (iii) are true.
(C) (i1) is false, (iv) is true.
(D) Both (i) and (iv) are true.
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83. Who among the following is universally
available in ‘little community’?
(A) Elites
(B) Nobles
(C) Traditional Priest
(D) Civil Society Activists

84. Who was concerned with the composition of
self at ‘micro level’ of social action?

(A) G. H. Mead
(B) E. Goffman
(C) P. Berger

(D) T. Luckman

85. ‘Knowledge’,according to whom, is determined
by social existence?

(A) K. Mannheim
(B) E. Schelter
(C) P. Sorokin
(D) M. Foucault

86. Multi-sited ethnography as a methodological
approach was introduced by

(A) H. Marcuse
(B) G. Marcuse
(C) R. Brown
(D) R. Firth

87. Indicate the statement which is not correct from
the following:

The general trends emerging in the realm of
families today are —

(A) Wider kin-based groups are in declining
influence.

(B) There is a widespread trend towards the
free selection of spouse.

(C) Matriarchy replaces patriarchy.

(D) There is a general trend towards the
g
granting and extension of children’s rights.
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88. Match the List-I with List-II and select the
correct answer from the codes given below:

List-1(Tribes) List-1I (State where
the particular tribe

is preponderant)

(a) Jaintia (1) Andhra Pradesh

(b) Koya (ii) Meghalaya
(¢) Tharu (ii1) Assam
(d) Rabha (iv) Uttar Pradesh

Codes:
@ (b)) (© (@
(A) (@) G i) (v)
B) Gi) Gy @@ 3Gv)
© Gv) @i G @)
D) Gy (@ (dv) (i)

89. Choose the correct option:
(A) All ex-untouchables do not constitute a
homogeneous social group.
(B) Ambedkar called the ex-untouchables as
Harijan.
(C) Sanskritization is a process of alienation.

(D) Other backward classes are comprised of
ex-untouchables.

90. The term honour killing is used in our society to
suggest

(A) killing of the aggressors by one to save the
honour of one’s country.

(B) killing of a girl who marries a youngman
from other caste or of a different religious
community.

(C) killing of the dacoits by a person to save
the honour of the female inmates that
might be despoiled by them.

(D) killing by a woman of a person who is
about to trangress on her daughter’s
honour.

91. Which of the following research designs is not
considered as a mixed method?

(A) Sequential design
(B) Embedded design
(C) Multiphase design
(D) Ethnographic design
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92. Which Article provides the abolition of

untouchability and forbidding of its practice in any
form?

(A) 17
(B) 216
() 217
(D) 164

93. Which one of the following is not an example of
organization according to Etzioni?

(i) Classes
(i) Corporations
(iii) Armies
(iv) Churches
Choose the correct one:
(A) (i) is true, (ii) is false.
(B) (iii) is true, (iv) is false.
(C) Both (i) and (ii) are true.
(D) Both (iii) and (iv) are true.

94. The Gandhian approach of trade unionism
indicates

(A) Class conflict
(B) Class collaboration

(C) A system of industrial jurisprudence
(D) Rebellion theory

95. The term triangulation indicates
(i) the use of at least three investigators.
(i1) the use of at least three data-sets.
(iii) the use of at least three theoretical
perspectives.

(iv) the use of more than three methods of data
collection.
Choose the correct one from the following:
(A) (i) is correct.
(B) (i) and (ii) are correct.
(C) (i), (i1) and (iii) are correct.
(D) (1), (i1), (iii) and (iv) are correct.
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92. (I« SNBFT-q SrsjHiel @ @ (@I T AS
RteTlol 1 TRz ?

(A) 17
(B) 216
() 217
(D) 164
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(i) cufepr
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(iii) =nff
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(©) (i) e (i) ToxE AT |
(D) (iii) 8 (iv) ToxE 55 |
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(D) @ ©¢ (rebellion theory)
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96. “Time and space play key roles in defining and
understanding globalization.”

Who among the following units of author made
this statement?

(A) Scheuerman and Peuquet
(B) Steinberg and Steinberg
(C) Wallerstein and Brandel
(D) Giddens and Peterson

97. Match the List-I with List-II and select the
correct answer from the codes given below:

List-1 (Authors)
(a) D. H.J. Morgan

List-1I (Books)

(i) The FElementary
Structure of Kinship

(b) Evans-Pritchard (i1) Social Theory and the

Family

(¢) Levi-Strauss (iii) Village Communities

in the East and West

(d) H.S. Maine (iv) Kinshipand Marriage

among the Nuer
Codes:
@ ® (@© (@@
@A) @ G Gv) (1)
B) Gv) @) G (i)
© Gy Gy Gv) @)
D) Gy Gv) (@ i)

98. Select the correct statement:

(A) Gender is a biological difference between
man and woman.

(B) Sex is a cultural construction.
(C) Sexual orientation is hierarchical.

(D) Gender is cultural construction that puts
man and woman in a hierarchical order.
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99. Match the List-I with List-II and select the
correct answer from the codes given below:

List-1 List-11
(a) Bardouli Satyagraha (1) 1918
(b) Kheda Peasant Struggle (i) 1930
(¢) Champaran Movement (i) 1928
(d) Peasant Revoltin Punjab (iv) 1917
Codes:
@ B © @
A) (@ Gy @) (v)
B) G (i) Gv) @)
© @Gi) @ (Gv) (D)
D) Gv) @G G @)

100. Inferential statistics is a form of
(A) Deductive inference
(B) Quantitative inference
(C) Inductive inference
(D) Numerical inference

X-24
99, 7518 [FP5-11 (AT AT Te 0% AN el A3
fnfaie @reekr e 7wt v w0 ¢
feri-1 feri-1T
(a) IACTRT Tepiag (i) 1918
(b) Wl 12AFG FHio@ (i) 1930
(c) TR TS (iii) 1928

(d) P11 eSS 24 Algi (iv) 1917
(1T g
@ G © @
(A () G @) @[v)
B) @G i) 3Gv) @)
© Gi) @@ @Gv) (i)
(D) @Gv) G (i) (@)

100. Z=ricaERIE GG 251 9bfb fiesm sl ¢

—

(A) Teushe 2w
=y

(B) @G0 2w

=

(C) TORFHE ST

(D) fewiR=e 2 i




X-25 17-11
Space for Rough Work



17-11 X-26
Space for Rough Work



X-27 17-11
Space for Rough Work



17-11 X-28
Space for Rough Work



	cov-x
	21323-SET-21-Sociology(X)-N
	Blank Page


 
 
    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 7.953 x 10.250 inches / 202.0 x 260.3 mm
     Action: Make all pages the same size
     Scale: No scaling (crop or pad)
     Rotate: Never
      

        
     D:20211027162036
      

        
     0
            
       D:20210804155533
       738.0000
       ctp-pdf
       Blank
       572.5984
          

     Tall
     1
     0
     507
     155
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     None
            
                
         AllDoc
              

      
       PDDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0b
     Quite Imposing Plus 4
     1
      

        
     26
     25
     26
      

   1
  

 HistoryList_V1
 qi2base




 
 
    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 7.953 x 10.250 inches / 202.0 x 260.3 mm
     Action: Make all pages the same size
     Scale: No scaling (crop or pad)
     Rotate: Never
      

        
     D:20211027113138
      

        
     0
            
       D:20210804155533
       738.0000
       ctp-pdf
       Blank
       572.5984
          

     Tall
     1
     0
     507
     155
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     None
            
                
         AllDoc
              

      
       PDDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0b
     Quite Imposing Plus 4
     1
      

        
     1
     0
     1
      

   1
  

 HistoryList_V1
 qi2base



